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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
13 ] 12 6,7 — — — 10C3+[3+bn 60 0,75 16 27 28 450 2 | CPB BinMupaHHa Ta BCHXaHHS IepeR 55
13 ] 13 2.4 — — — 10C3+]13+bn 75 0,75 16 31 32 530 2 CPB BiaMHupaHHs Ta BCHXaHHS J€peB 55
13 ] 14 1,1 - — - 10C3 59 0,75 la 26 28 430 2 | CPB BinMupaHHa Ta BCHXaHHS IEpeB 55 9
13115 2 — — —~ 10C3 80 0,75 la 30 36 510 2 1 ¢PB BiaMupaHHs Ta BCUXaHHA IEPEB 55 o
13116 3 — — — 10C3+bnt /I3 90 0,65 la 31 40 460 2 | CPB BinaMupaHHA Ta BCxaHHs JepeB 55 g
=317 0,9 — — — 10C3 95 0,6 la 31 40 430 2 { CPB BigMupaHHA T4 BCMXaHHA JepeB 55 5
213 18 3 — —_ — 10C3 80 0,75 la 30 32 510 2 CPB BiaMHpaHHs Ta BCMXaHHA JIEPEB 55 2
6 16 6 12,7 — — — 10C3 120 0,7 la 33 44 540 2 CPB BiiMupaHHA Ta BCHXaHHS IEpEB 21 §
g | 16 7 2.3 — - — 10¢3 95 0,6 la 31 40 420 2 CPB BizMupaHHs Ta BCMXaHHA JIEpEB 21 T
< 47] 2 7.5 [4)) 5,8 5,8 9C31 J13(60)+ /13 160 0,6 1 34 48 410 2 | CPB BiaMHpaHHA Ta BCHXaHHA JASpeB 21 2
g 471 4 3.6 -~ — - 6C3(150)2 132C3(70) 150 0,6 la 35 48 400 2 | CPB Binmupalitis Ta Beuxanha aepes 21 2
a1 S0 10 6,9 — — — 10C3 95 0,7 la 30 32 480 ¢ 2 | CPB BiaMHupaHHA Ta BCHXaHHA JiepeB 18 g
R 1s5 ] 11 2,7 — — — 10C3+/13 59 0,75 la 26 28 430 2 | CPB BiaMupaHHs Ta BCUXaHHA JepeB 18 e
50.] 12 4,8 — — — 10C3 95 0,7 la 32 32 520 2 CPB BiaMMpaHHs Ta BCHXaHHA Jd€peB 18 a
50 [ 13 2,7 — - — 10C3+)13 59 0,75 la 25 28 400 2 | CPB BiiMypaHHA Ta BCUXaHHA AepeB 18 E
501 14 22 — — — 10C3+ 113 95 0,65 la 30 36 440 2 CPB BiaMHpaHHs Ta BCUXaHHA JEpeB 18 o
61 | 11 11 — — — 8/132C3 100 | 07 1 29 36 400 2 | cpB BiaMUpaHHA Ta BCHXaHHA AEPER 16 5
72 | 8 2,‘3 -~ — — 832C3 150 0,6 2 29 48 350 2 | CPB BiaMupaHHs Ta BCUXAHHA Bepes 69 g.
Pazom: 77.8 S
=
8 41 6 2.7 - — — 95nm1C3+Oc+Bnu+Bpb 70 0,7 1 27 36 280 2 | CPB BiaMupaHHs Ta BCHXaHHA IepeB 12 g
8 (41 ] 2 0,8 — — — 71433C3 70 0,65 1 22 22 260 2 CPB BiAMHpaHHS Ta BCUXaHHA AepeB 12 =
§ 41 | 22 0.3 — — — 931C3+I3 65 0.7 2 18 20 210 2 CPB Biamupanus Ta BCHXaHHS JepeB 12 ™
E 41 | 24 0,2 - — - 9bn1C3+Bau 55 0,65 1 25 32 230 2 | CPB BiaMupaHHs Ta BCUXaHHA aepeB 12
=414 27 2,2 — — - 76n2C31Bay 70 0,7 1 25 32 270 2 | CPB BiaMupaHHs Ta BCHXaHHA AepeB 53




1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
4] 31 0,6 = - — 9bn1Bau+C3 65 0,7 1 26 32 250 2 CPB BinMupaHHA Ta BCUXaHHA ACpeB 53
41 7 0,1 — — — 10C3+13 70 0,7 la 26 30 400 2 | CPB BiaMupaHHA Ta BCUXaHHA JEpeB 13
41 8 1,2 — — — 7C3(65)3C3(85)+/13+bn+Ax6 | 65 0,6 2 19 26 230 2 CPB BigMupaHHs Ta BCHXAHHA JEpes 13
41 9 0,4 — — — 8C31Bmulbn+Ak6+0Oc 70 0,7 la 26 32 370 2 CPB BiamMHpaHHs Ta BCHX4HHA IEpEB 13
41 | 18 0,2 — - — 7C32Ak01 13+C6 60 0,6 1 20 28 170 2 CPB BizMUpaHHS Ta BCUXaHHA JEPEB 13
§ 41 | 19 0,5 — — — 7C3(90)2C3(70)1 113 90 0,7 1 27 40 410 2 | CPB BiaMupaHHs Ta BCUXaHHA Jcpes 13
’ 41 | 21 1,3 — — — 10C3+bn+Bnu 70 0,7 1 25 36 380 2 CPB BinMupaHHa Ta BCHXaHHA Jepes 13
41 | 23 0,1 — — — 10C3+/13 75 0,7 1 25 30 380 2 | CPB BiaMHpaHHS Ta BCUXaHHA JEpEB 13
41 | 30 0,2 — — — 7C33bn 70 0,7 la 26 36 350 2 CPB BiaM#paHHsS Ta BCUXAHHA JIepeB 13
§ 39 1 0,2 — — - 8C32bn 65 0,45 1 23 32 150 2 | CPB BigMupaHHs Ta BCHXaHHS JEPeB 8
A 139 2 0,6 — — — 9C31bn 75 0,55 1 23 32 220 2 CPB BiaMupaHHs Ta BCHXaHHS JEPEB 8
O [ 39 4 2.3 — — — 10C3+bn 70 0,7 1 25 36 380 2 CPB BiaMupaHHa Ta BCHXaHHA JIEPEB 8
COQ 39 5 2,6 — — — 8C3(130)2C3(70)+bn 130 0,4 2 26 52 210 2 | CPB BiaMHpaHHs Ta BCHXaHHA Jiepes 8
& 39 6 0,8 — — — 10C3 65 0,75 1 23 28 360 2 CPB BiaMHpaHHa Ta BCHXaHHA Jepes 8
E 39 7 0,8 — — — 9C31bn 60 0,65 la 26 32 360 2 | CPB BinmupaHus Ta BCHXaHHA JepeB 8
= 391 10 0,3 — — — 10C3 65 0,7 ia 26 30 400 2 | CPB BiaMipaHHs Ta BCUXaHHA JEpes 8
39 11 1,4 (1) 0,7 0,7 8C32bn 70 0,55 1 23 40 250 2 CPB BiamupaHHs Ta BCHXaHHS AEpes 8
39 | 12 0,8 — — — 9C31bn 60 0,4 la 23 30 180 2 | CPB BiaMupaHHs Ta BCUXAaHHs JEpes 8

39 [ 13 2.4 - — — 7C3(100)3C3(60) 100 | 0,65 3 23 44 260 2 | CPB BiaMupaHHs Ta BCUXaHHA JEPEB 8 g

39 | 15 0,7 — — — 10C3 65 0,75 1 23 28 360 2 CPB BiaMHpaHHs Ta BCHXAHHA JEpeB 8 %

551 11 1 (@) 0,5 0,5 6bn3C310c¢ 65 0,65 1 25 30 250 2 | CPB BiaMupaHHs Ta BCUXaHHA JIEpeB 31 Z

55 ] 22 2,3 (@] 2 2 10bn+C3 60 0,75 1 26 30 260 2 | CPB BiaMHUpaHHs Ta BCHXaHHA JEpeB 31 @

55 ] 25 0,3 — — — 85m2C3 75 0,7 2 25 32 250 2 CPB BiaMHpaHHs Ta BCHXAHHA Jepes 31 2

55 | 27 1 — — — 9bniCat]l3 60 0,7 1 25 32 250 2 CPB BiaMH1paHHs Ta BCUXaHHs JepeB 31 2

55133 0,7 (1) 0,1 0,1 45n40c2Bny 20 0,8 1 12 10 110 2 | CPB BiIMMpaHHs Ta BCUXAaHHA JIEPEB 31 3

L 55| 34 0,2 — — — 865n1BnulC3+/13 75 0,55 2 25 36 200 2 CPB BiaMHpaHHs Ta BCHXAHHA 1€pes 31 E\

a3om: 29,2

: =
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40 ] 288 — — — 5 4K;)§§32Ll3 16800 0,4 i 33 62 290 2 | CPB BiaAMHpaHHS Ta BCHXaHHA JIEpeB 12 %

— — — r332bpc 1 Yw 0,4 i 21 26 120 2 CPB BiaMHpaHHs Ta BCHXAHHA Jepes 8

48 | 14 7,3 — - - 9C3(105)1C3(90) 105 0,6 la 32 50 420 2 | CPB BinMupaHHs Ta BchxaHHs AepeB 25 E.

571 4 8 — — - 10C3 58 0,85 16 26 30 520 2 | CPB BiamupaHHa Ta BCHXaHHA JepeB 26 2

= | 53 1 1,2 — — — 8C3(80)2C3(50) 80 0,6 la 28 38 360 2 CPB BiaMHMpaHHs Ta BCUXAHHA Jepes 21 §

E 53 2 2.2 — — — 10C3 80 0,75 la 28 36 450 2 CPB BiaMupaHHa Ta BCHXaHHs JepeB 21 E)'

o 5315 1,6 - - — 9C3(80)1C3(50) 80 0,65 la 28 42 400 2 | CPB BiamHpaHHa Ta BCHXaHHA lepes 21 g

a |18 4 11,4 — — — 10C3 80 0,75 I 35 44 600 2 CPB BigMupaHHa Ta BCHXaHHA AEpEB 13 )

E 46 1 0,5 — — — 10C3 130 0,4 1 31 60 290 2 CPB BiaMHpaHHs Ta BCHXAHHA Jiepes 15 §

={ | 46 2 1 — — — 10C3 100 0,5 la 32 50 370 2 CPB BiaMHpaHHs Ta BCHXAHHA Jepes 15 (.‘,:;
C |46 3 12,8 — = = 10C3 80 0,7 la 30 34 480 2 | CPB BisiMupaHHs Ta BCHXaHHA ICPEB 15
5 46 5 4.1 — — — 10C3 90 0,75 la 32 46 550 2 CPB BiaMHUpaHHs Ta BCHXAHHA JIEpes 15
246 8 4 — — — 7C3(90)3C3(70) 90 0,6 la 32 48 420 2 | CPB BizMMpaHHs T2 BCHUXAHHA JEpPeB 15
46 9 3 — — — 10 C3+Ax6 70 0,8 16 29 36 520 2 | CPB BijMH1paHHs Ta BCHMXaHHA Aepes 15
46 | 10 11,2 — — — 9C31 Ak 90 0,65 16 33 48 400 2 CPB BiaMupaHHs Ta BCUXaHHA AepeB 15
46 | 11 10,4 - — - 10C3 75 0,8 la 29 34 520 2 | CPB BiaMupaHHs Ta BCHXaHHSA IEpPEB 15
21 5 11,2 — - — 10C3 75 0,75 1 24 30 350 2 | CPB BiaMuHpaHis Ta BCHXaHHA Jepes 17

Pazom: 118,7

4 15 1 — — — 8AKk02/13 75 0,7 2 25 32 240 2 CPB BiAMupaHHs Ta BCUXaHHA JIEpeB 17
g 4 18 7.2 — - — 6]134C3 110 0,7 2 27 44 390 2 CPB BiamupanHs Ta BCUXaHHA Jepes 43
) 4 23 0,2 — — — 10AK6+C3 75 0,7 2 25 32 210 2 CPB BiaMHpanis Ta BCUX@HHA JIepeB 55
=1 4 {24 0,5 — — - 10Ak6 75 0,65 2 25 36 200 2 | CPB BiamMuypaHss Ta BCUXaHHA JIEpeB R
={2] 14 3.7 — — — 9C31/13+Ax6 60 0,75 la 26 32 420 2 | CPB BiaMupaHHa Ta BCMXaHHA Jepes 37
E 35119 54 - - — 10C3 80 0,75 16 31 40 540 2 | CPB BLiMupaHHa Ta BCMXaHHA J1epes 76
< 351 25 1.9 — — — 9C31]13 59 0.7 16 28 36 420 2 CPB BiiMHpaHHs Ta BCUXAHHA JepeB 76
={] 35] 26 1,3 — — — 10C3 80 0,75 16 31 40 540 2 | CPB BiMMpaHHA Ta BCUXaHHS JIEpeB 76
35127 0,3 - — — 10C3 60 0,75 16 28 32 470 2 | CPB BiaMupaHHs Ta BCUXaHHS J1EpEB 76




1 2 3 4 5 7 8 9 10 11 12 13 14 15 16 17 18 19
Sl 35 ] 30 0,6 — — 8C32)13 80 0,65 la 29 36 380 2 | CPB BizMHpaHHs T2 BCUXaHHS JICpeB 76 °
= E 35 | 31 2,7 — — 10C3 80 0,75 la 30 40 510 2 CPB BiAMupaHHs Ta BCHXaHHA JEpes 76 a5
= 35 1 32 2 — — 9C31/13 61 0,75 la 26 32 410 2 | CPB BiaMupanHs Ta BCUXaHHA Jlepes 76 E g °
Pazom 26,8 g % g
S
g 5
Aol 8 8 0,9 — — 9C31/13 90 0,65 la 32 44 470 2 | CPB BiaMupaHHa Ta BCHXaHHA Jepes 25 5 g
é% 8 9 7,8 — — 10C3+]13 70 0,8 16 29 32 530 2 | CPB BigMHpaHus Ta BCUXaHHS JIEPEB 25 o .‘.E.
= 29 5 5,3 — — 95n1C3 60 0,7 la 28 30 290 2 | CPB BiamupanHs Ta BCHXaHHA JIepes 54
Pazom: 14,0
BCHOI'O : 266,5
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